# Some results for the perturbation of the W-weighted Drazin inverse

XU Zhao-liang<sup>1</sup>, WANG Guo-rong<sup>2</sup>, GU Chao<sup>3</sup>

- (1. Department of Basic Sciences, Shanghai Maritime University, Shanghai 200135, China;
- 2. Mathematics and Sciences College, Shanghai Normal University, Shanghai 200234, China;
- 3. Department of Mathematics and Statistics, Shanghai LiXin Commerce University, Shanghai 200106, China)

**Abstract:** Given an  $m \times n$  matrix A and its perturbation matrix E, some new properties of the W-weighted Drazin inverse  $A_{d,W}$  and  $B_{d,W}$  of A and B are obtained, where B = A + E. Under certain conditions, the Banach – type perturbation theorem for the W-weighted Drazin inverses of A and B are established, and the perturbation bounds of  $\|B_{d,W}\|$  and  $\|B_{d,W} - A_{d,W}\| / \|A_{d,W}\|$  are presented. When A and B are square matrices and W is an identity matrix, some known results in the literature related to the Drazin inverse and the group inverse are reduced by the results in this paper as special cases.

Key words: perturbation; W-weighted Drazin inverse; index; core-rank; condition number

CLC number: 0151.2 Document code: A Article ID: 1000-5137(2005)02-0010-07

### 1 Introduction

It is well known that the Drazin inverse of matrix is very useful because of its various applications. The perturbation theory of the Drazin inverse has been widely discussed and can be found in the literature  $^{[1,2,4-8]}$ . In the important paper  $^{[3]}$ , Cline and Greville extended the Drazin inverse of a square matrix to a rectangular matrix and introduced the notion of the W-weighted Drazin inverse. Many properties and applications of the W-weighted Drazin inverse have been discussed later in [1,2,9,10,11]. In this paper, we study some properties of the W-weighted Drazin inverse, establish a Banach – type perturbation theorem for this inverse, and give the perturbation bounds for  $\|B_{d,W}\|$  and  $\|B_{d,W}-A_{d,W}\|/\|A_{d,W}\|$ . Some results in [4,6,7] are special cases of our results.

#### 2 Preliminaries

Let  $A \in \mathbb{C}^{n \times n}$ . The smallest nonnegative integer k such that  $\operatorname{rank}(A^k) = \operatorname{rank}(A^{k+1})$  is called the index of A, and denoted by  $k = \operatorname{Ind}(A)$ .

Let  $A \in C^{m \times n}$  and  $W \in C^{n \times m}$ . A matrix X is called the W-weighted Drazin inverse of A if

Received date: 2004-11-01

Foundation item: Supported by the Foundation of Shanghai Education Committee 03 DZ04.

Biography: XU Zhao-liang( 1959 - ), male, associate professor, Department of Basic Sciences, Shanghai Maritime University.

11

$$(AW)^{k+1}XW = (AW)^k$$
,  $XWAWX = X$ ,  $AWX = XWA$ , (2.1)

for some integer k > 0. In this case, X is denoted by  $X = A_{d,W}$ . In particular, when A is square and W = I, the W-weighted Drazin inverse is called the Drazin inverse and denoted by  $X = A_d$ . Furthermore, if k = 1, the Drazin inverse is reduced to the group inverse and denoted by  $A_g$ .

Let  $A \in C^{n \times n}$  with  $\operatorname{Ind}(A) = k$ . rank  $(A^k)$  is called the core-rank of A and written as core-rank (A).

Throughout this paper, all the notations are the same as those in [2]. And the following lemmas will be used.

**Lemma 2.1**<sup>[1,2]</sup> Let L and M be complementary subspaces of  $C^n$ . Let  $A \in C^{n \times n}$ . Then

- (a)  $P_{L,M}A = A$  if and only if  $R(A) \subset L$ ;
- (b)  $AP_{L,M} = A$  if and only if  $N(A) \supset M$ .

**Lemma 2.2**<sup>[1,2]</sup> Let  $A \in C^{n \times n}$ . Then

- (a) Ind(A) = k if and only if  $R(A^k) \oplus N(A^k) = C^n$ ;
- (b) If A has index k,  $A^l$  has index 1 and  $(A^l)_x = (A_d)^l$  for  $l \ge k$ ;
- (c) If A has index k,  $AA_d = A^l(A^l)_g$  and  $A_d = (A^l)_g A^{l-1}$  for  $l \ge k$ .

**Lemma 2.3**<sup>[2,3]</sup> Let  $A \in C^{m \times n}$ ,  $W \in C^{n \times m}$ . Then A has the unique W-weighted Drazin inverse  $A_{d,W}$  which satisfies:

- (a)  $A_{d,W} = A(WA)_d^2 = (AW)_d^2 A$ ;
- (b)  $A_{d, \mathbf{w}} W = (A W)_{d}$ ;
- (c)  $WA_{d,\mathbf{W}} = (WA)_d$ .

**Lemma 2.4**<sup>[2]</sup> Let  $A \in C^{m \times n}$ ,  $W \in C^{n \times m}$ ,  $\operatorname{Ind}(AW) = k_1$  and  $\operatorname{Ind}(WA) = k_2$ . Then

- (a)  $R(A_{d,W}) = R((AW)^{k_1}) = R((AW)_d)$ ;
- (b)  $N(A_{d,w}) = N((WA)^{k_2}) = N((WA)_d)$ ;
- (c)  $WAWA_{d,W} = (WA)(WA)_d = P_{R((WA)^{k_2}), N((WA)^{k_2})};$
- (d)  $A_{d,W}WAW = (AW)_d(AW) = P_{R((AW)^{k_1}), N((AW)^{k_1})};$
- (e)  $R(A_{d,\mathbf{W}}\mathbf{W}) \oplus N(A_{d,\mathbf{W}}\mathbf{W}) = C^{m}$ ;
- (f)  $R(WA_{d,W}) \oplus N(WA_{d,W}) = C^n$ .

**Lemma 2.5**<sup>[1,2]</sup> Suppose that ||F|| < 1. Then I + F is nonsingular and  $||(I - F)^{-1}|| \le 1/(1 - ||F||)$ . (2.2)

#### 3 Main Results

In this section, we prove some new properties of  $A_{d,\overline{w}}$  and  $B_{d,\overline{w}}$ , establish the Banach – type theorem, and give the perturbation bounds for  $\|B_{d,\overline{w}}\|$  and  $\|B_{d,\overline{w}}-A_{d,\overline{w}}\| / \|A_{d,\overline{w}}\|$ .

**Theorem 3.1** Let  $A, E \in C^{m \times n}$  and  $W \in C^{n \times m}$ . Let B = A + E, Ind $(AW) = k_1$ , Ind $(WA) = k_2$ , Ind $(BW) = j_1$ , Ind $(WB) = j_2$ ,  $l_1 = max\{k_1, j_1\}$  and  $l_2 = max\{k_2, j_2\}$ . And let  $(EW)(l_1) = (BW)^{l_1} - (AW)^{l_1}$  and  $(WE)(l_2) = (WB)^{l_2} - (WA)^{l_2}$ . If  $||WEWA_{d,W}|| < 1$  and  $||A_{d,W}WEW|| < 1$ , then

$$B_{d,W} = (I + A_{d,W}WEW)^{-1}A_{d,W} = A_{d,W}(I + WEWA_{d,W})^{-1}$$
(3.1)

if and only if

$$core-rank(AW) = core-rank(BW); (3.2a)$$

$$core-rank(WA) = core-rank(WB);$$
 (3.2b)

$$A_{d,W}WAW(EW)(l_1) = (EW)(l_1) = (EW)(l_1)A_{d,W}WAW;$$
 (3.2c)

$$WAWA_{dW}(WE)(l_2) = (WE)(l_2) = (WE)(l_2)WAWA_{dW}.$$
 (3.2d)

**Proof**  $(\Rightarrow)$ . Suppose that (3.1) holds. Then it is easy to see that

$$R(B_{d,W}) = R(A_{d,W})$$
 and  $N(B_{d,W}) = N(A_{d,W})$ .

By Lemma2.4, we obtain

$$R((AW)^{k_1}) = R((BW)^{l_1}) \text{ and } N((WA)^{k_2}) = N((WB)^{l_2}).$$

Hence

$$core-rank(AW) = core-rank(BW)$$
,  
 $core-rank(WA) = core-rank(WB)$ .

Furthermore, by using Lemma 2.1 and Lemma 2.4, we have

$$A_{d,W}WAW(EW)(l_1) = P_{R((AW)^{k_1}), N((AW)^{k_1})}((BW)^{l_1} - (AW)^{l_1}) = (BW)^{l_1} - (AW)^{l_1} = (EW)(l_1),$$

and

$$(WE)(l_2)WAWA_{d,W} = (WE)(l_2).$$

Similarly, we can establish the other two equalities in (3.2c) and (3.2d).

(⇐). Conversely, suppose that all the four equations in (3.2) hold. From Lemma 2.2 and Lemma 2.3, we have

$$(BW)^{l_1} = (AW)^{l_1} + (EW)(l_1) = (AW)^{l_1} + A_{d,W}WAW(EW)(l_1) = (AW)^{l_1} + (AW)^{l_1}((AW)^{l_1})_g(EW)(l_1) = (AW)^{l_1}(I + ((AW)^{l_1})_g(EW)(l_1)).$$

Notice that core-rank  $(AW) = \operatorname{core-rank}(BW)$ . Then  $R((AW)^{k_1}) = R((BW)^{j_1})$ . Similarly, notice that core-rank  $(WA) = \operatorname{core-rank}(WB)$ . We have  $(WB)^{l_2} = (I + (WE)(l_2)((WA)^{l_2})_g)(WA)^{l_2}$  and  $N((WA)^{k_2}) = N((WB)^{j_2})$ . Therefore, we have

$$R(A_{d,W}) = R(B_{d,W}) = R((AW)^{k_1}), N(A_{d,W}) = N(B_{d,W}) = N((WA)^{k_2}).$$

By computation, we obtain

$$\begin{split} B_{d,W} - A_{d,W} &= -B_{d,W} W E W A_{d,W} + B_{d,W} - A_{d,W} + B_{d,W} W (B-A) W A_{d,W} &= \\ &- B_{d,W} W E W A_{d,W} + (B_{d,W} - B_{d,W} P_{R((WA)^{k_2}), N((WA)^{k_2})}) - (A_{d,W} - P_{R((BW)^{j_1}), N((BW)^{j_1})} A_{d,W}) &= \\ &- B_{d,W} W E W A_{d,W}. \end{split}$$

Therefore

$$B_{d,W}(I + WEWA_{d,W}) = A_{d,W}.$$

Because of the assumption  $\|WEWA_{d,W}\| < 1$ ,  $I + WEWA_{d,W}$  is nonsingular. Thus

$$B_{d,W} = A_{d,W} (I + WEWA_{d,W})^{-1}.$$

Similarly, by the method described above, we can obtain the other equality in (3.1). This completes the proof.

From this Theorem, we can easily obtain the following corollary.

Corollary 3.1 Let  $A, E \in C^{m \times n}$  and  $W \in C^{n \times m}$ . Let B = A + E,  $Ind(AW) = k_1$ ,  $Ind(WA) = k_2$ ,  $Ind(BW) = j_1$ ,  $Ind(WB) = j_2$ ,  $l_1 = max\{k_1, j_1\}$  and  $l_2 = max\{k_2, j_2\}$ . And let  $(EW)(l_1) = (BW)^{l_1} - (AW)^{l_1}$ ,  $(WE)(l_2) = (WB)^{l_2} - (WA)^{l_2}$ ,  $||WEWA_{d,W}|| < 1$  and  $||A_{d,W}WEW|| < 1$ . If Eqs. (3.2) hold, then

$$WAWA_{d,W} = WBWB_{d,W} \text{ and } A_{d,W}WAW = B_{d,W}WBW.$$

**Theorem 3.2** Let  $A, E \in C^{m \times n}$  and  $W \in C^{n \times m}$ . Let B = A + E,  $Ind(AW) = k_1$ ,  $Ind(WA) = k_2$ ,  $Ind(BW) = j_1$ , and  $Ind(WB) = j_2$ . Suppose that

$$A_{d,W}WAWEW = EW = EWA_{d,W}WAW, (3.3a)$$

and

$$WEWAWA_{dw} = WE = WAWA_{dw}WE. (3.3b)$$

Then the matrices

$$I + WA_{d,W}WE, I + EWA_{d,W}W, I + WEWA_{d,W}, I + A_{d,W}WEW,$$
 (3.4)

are nonsingular if and only if

$$N((BW)^{i}) = N((AW)^{i}), R((BW)^{i}) = R((AW)^{i}), i = 1, \dots, k_{1}$$
 (3.5a)

and

$$N((WB)^{j}) = N((WA)^{j}), R((WB)^{j}) = R((WA)^{j}), j = 1, \dots, k_{2}.$$
 (3.5b)

**Proof** ( $\Leftarrow$ ). Suppose that Eqs. (3.5) hold. We note that  $Ind(BW) = Ind(AW) = k_1$  and  $Ind(WB) = Ind(WA) = k_2$ . By Lemma 2.2, we have some facts which will be used in this proof:

$$R((AW)^{k_1}) \oplus N((AW)^{k_1})) = C^m, R((BW)^{k_1}) \oplus N((BW)^{k_1})) = C^m,$$
  

$$R((WA)^{k_2}) \oplus N((WA)^{k_2})) = C^n, R((WB)^{k_2}) \oplus N((WB)^{k_2})) = C^n,$$

and

$$WAWA_{d,W} = WBWB_{d,W}, A_{d,W}WAW = B_{d,W}WBW.$$
(3.6)

We shall prove that all the four matrices in (3.4) are nonsingular through the following four steps.

(a) Suppose that for some vector  $x \in C^n$ ,  $(I + WEWA_{d,W})x = 0$ . From the assumption of Theorem 3.2, we have

$$x = -WEWA_{d,W}x = -WAWA_{d,W}WEWA_{d,W}x = -P_{R((WA)^{k_2}), N((WA)^{k_2})}WEWA_{d,W}x.$$

This tell us that  $x \in R((WA)^{k_2})$ .

On the other hand, it holds that  $B_{d,w}(I + WEWA_{d,w})x = 0$ . Furthermore, we see from (3.6) that

$$\begin{array}{lll} B_{d,\,W}(\,I\,+\,WEW\!A_{d,\,W}\,) &=& B_{d,\,W}\,+\,B_{d,\,W}WEW\!A_{d,\,W}\,= \\ && B_{d,\,W}\,+\,B_{d,\,W}WBW\!A_{d,\,W}\,-\,B_{d,\,W}WBW\!B_{d,\,W}\,= \\ && A_{d,\,W}WAW\!A_{d,\,W}\,=\,A_{d,\,W}. \end{array}$$

Then we have  $A_{d,W}x = 0$ , i. e.,  $x \in N(A_{d,W}) = N((WA)^{k_2})$ . Hence

$$x \in R((WA)^{k_2}) \cap N((WA)^{k_2}) = \{0\}.$$

Therefore, we can conclude that  $I + WEWA_{d,W}$  is nonsingular.

(b) Suppose that for some vector  $x \in C^m$ ,  $(I + A_{d,W}WEW)x = 0$ . Then  $x = -A_{d,W}WEWx \in R((AW)^{k_1})$ . On the other hand, we note that

$$x = -A_{d,W}W(B-A)Wx = -A_{d,W}WBWx + A_{d,W}WAWx$$

and from Lemma 2.4(d), we obtain

$$A_{d,W}WAWx = P_{R((AW)k_1), N((AW)k_1)}x = x. (3.7)$$

Hence  $A_{d,W}WBWx = 0$ . This tell us that  $WBWx \in N(A_{d,W}) = N(B_{d,W})$ , i. e,  $B_{d,W}WBWx = 0$ . From the fact (3.6), we have  $A_{d,W}WAWx = 0$ . By (3.7), we obtain x = 0. Therefore,  $I + A_{d,W}WEW$  is nonsingular.

(c) Suppose that  $x \in C^m$  and  $(I + EWA_{d,w}W)x = 0$ . We notice that

$$x + EWA_{d,W}Wx = 0. (3.8)$$

2005年

Then  $(I + WEWA_{d,W}) Wx = 0$ . Thus Wx = 0 from the non-singularity of  $I + WEWA_{d,W}$ . By (3.8), we obtain x = 0. This tell us that  $I + EWA_{d,W} W$  is nonsingular.

- (d) By an analogous argument like that in (c), we can prove that  $I + WA_{d,W}WE$  is also nonsingular.
- (⇒). We shall prove this part of Theorem3.2 by induction.

Suppose that the matrices in (3.4) are nonsingular. Firstly, with the assumption, it is evident that

$$BW = AW + EW = AW + EWA_{d,W}WAW =$$

$$(I + EWA_{d,W}W)AW,$$
(3.9)

and

$$BW = AW(I + A_{d,W}WEW). (3.10)$$

By using the non - singularity of the matrices in (3.4), we see that R(AW) = R(BW) and N(AW) = N(BW). Secondly, suppose that

$$N((BW)^{i}) = N((AW)^{i}), R((BW)^{i}) = R((AW)^{i}), i = 1, \dots, k_{1} - 1.$$
 (3.11)

Then we have

$$\operatorname{rank}((BW)^{k_1}) = \operatorname{rank}((I + EWA_{d,W}W)AW(BW)^{k_1-1}) = \\ \operatorname{rank}(AW(BW)^{k_1-1}) = \dim(R(AW(BW)^{k_1-1})) = \\ \dim(AWR((BW)^{k_1-1})) = \dim(R(AW)^{k_1}) = \\ \operatorname{rank}((AW)^{k_1}). \tag{3.12}$$

From (3.9), (3.10), (3.11), and (3.12), it follows that

$$N((BW)^{k_1}) = N((AW)^{k_1}), R((BW)^{k_1}) = R((AW)^{k_1}).$$

This completes the proof of (3.5a) by induction. Similarly, we can prove that (3.5b) also holds. With the above work, the proof is completed.

Combining Theorem 3.1 and Theorem 3.2, when both A and E are square matrices and W is an identity matrix, we come to the following results immediately.

Corollary 3.2<sup>[7]</sup> Let B = A + E with Ind(A) = k and Ind(B) = j. Let  $l = max\{k, l\}$  and  $E(l) = B^l - A^l$ . If  $||EA_d|| < 1$ . Then

$$B_d = (I + A_d E)^{-1} A_d = A_d (I + E A_d)^{-1},$$

if and only if

$$core-rank(B) = core-rank(A)$$
 and  $AA_dE(l) = E(l) = E(l)AA_d$ .

Corollary 3.3 [7] Let B = A + E with Ind(A) = k. Suppose that  $AA_dE = E = EAA_d$ . Then  $I + A_dE$  is invertible if and only if

$$R(B^i) = R(A^i)$$
 and  $N(B^i) = N(A^i)$ ,  $i = 1, \dots, k$ .

Furthermore,  $AA_dE(k) = E(k) = E(k)AA_d$ , where  $E(k) = B^k - A^k$ .

Now we show the Banach - type perturbation theorem for the weighted Drazin inverse.

**Theorem 3.3** Let  $B = A + E \in C^{m \times n}$ ,  $W \in C^{n \times m}$ ,  $\operatorname{Ind}(AW) = k_1$ ,  $\operatorname{Ind}(WA) = k_2$ ,  $\operatorname{Ind}(BW) = j_1$ ,  $\operatorname{Ind}(WB) = j_2$ ,  $l_1 = \max\{k_1, j_1\}$ ,  $l_2 = \max\{k_2, j_2\}$ ,  $(EW)(l_1) = (BW)^{l_1} - (AW)^{l_1}$  and  $(WE)(l_2) = (WB)^{l_2} - (WA)^{l_2}$ . Suppose that (3.2) holds. If  $\|WEWA_{d,W}\| < 1$  and  $\|A_{d,W}WEW\| < 1$ , then

$$\frac{\|A_{d,w}\|}{1 + \|WEWA_{d,w}\|} \le \|B_{d,w}\| \le \frac{\|A_{d,w}\|}{1 - \|WEWA_{d,w}\|},$$
(3.13)

and

$$\frac{\parallel WEWA_{d,W} \parallel}{\Im K}_{d,W}(A)(1 + \parallel WEW \parallel \parallel A_{d,W} \parallel) \leq \frac{\parallel B_{d,W} - A_{d,W} \parallel}{\parallel A_{d,W} \parallel}$$

$$\leq \frac{K_{d,W}(A) \parallel WEW \parallel / \parallel WAW \parallel}{1 - K_{d,W}(A) \parallel WEW \parallel / \parallel WAW \parallel}, \tag{3.14}$$

where  $K_{d,\mathbf{W}}(A) = \| \mathbf{W}A\mathbf{W} \| \| A_{d,\mathbf{W}} \|$  is defined as the condition number of the W-weighted Drazin inverse  $A_{d,\mathbf{W}}$ , and  $\| \cdot \|$  indicates any consistent matrix norm with  $\| I \| = 1$ .

**Proof** From Theorem 3.1, we see that  $B_{d,W} = A_{d,W} (I + WEWA_{d,W})^{-1}$ . Notice that  $\|\cdot\|$  is a consistent matrix norm with  $\|I\| = 1$ . By Lemma 2.5, we obtain (3.13) immediately

$$\frac{\parallel A_{d, \mathbf{W}} \parallel}{1 \ + \ \parallel WEWA_{d, \mathbf{W}} \parallel} \ \leqslant \ \parallel B_{d, \mathbf{W}} \parallel \ \leqslant \ \frac{\parallel A_{d, \mathbf{W}} \parallel}{1 \ - \ \parallel WEWA_{d, \mathbf{W}} \parallel}.$$

From the fact that  $B_{d,W} - A_{d,W} = B_{d,W} WEWA_{d,W}$  and (3.13), we have

$$\frac{\parallel B_{d,W} - A_{d,W} \parallel}{\parallel A_{d,W} \parallel} \leq \frac{\parallel B_{d,W} \parallel \parallel WEWA_{d,W} \parallel}{\parallel A_{d,W} \parallel} \leq \frac{\parallel WEWA_{d,W} \parallel}{1 - \parallel WEWA_{d,W} \parallel} \leq \frac{\parallel WEWA_{d,W} \parallel}{1 - \parallel A_{d,W} \parallel \parallel WAW \parallel \parallel WEW \parallel / \parallel WAW \parallel} \leq \frac{\parallel WEWA_{d,W} \parallel}{1 - \parallel A_{d,W} \parallel \parallel WAW \parallel \parallel WEW \parallel / \parallel WAW \parallel} = \frac{K_{d,W}(A) \parallel WEW \parallel / \parallel WAW \parallel}{1 - K_{d,W}(A) \parallel WEW \parallel / \parallel WAW \parallel}.$$
(3. 15)

This is the upper bound of (3.14). Next we deal with the lower bound of (3.14).

By Corollary 3.1, we see that

$$WAWA_{d,W} = WBWB_{d,W}$$
 and  $A_{d,W}WAW = B_{d,W}WBW$ .

Then

$$\begin{split} WEWA_{d,W} &= W(B-A)WA_{d,W} = WBWA_{d,W} - WAWA_{d,W} = \\ WBWA_{d,W} - WBWB_{d,W} &= WBW(A_{d,W} - B_{d,W}) = \\ &\quad (WAW + WEW)(A_{d,W} - B_{d,W}). \end{split}$$

Thus

$$\parallel B_{d,W} - A_{d,W} \parallel \ \geqslant \frac{\parallel WEWA_{d,W} \parallel}{\parallel WAW \parallel \ + \parallel WEW \parallel}.$$

Notice the fact

$$\parallel WEW \parallel \ \parallel A_{d,W} \parallel \ = \ \parallel WEW \parallel \ \parallel A_{d,W}WAWA_{d,W} \parallel$$
 
$$\leqslant \ \parallel WEW \parallel \ \parallel A_{d,W} \parallel K_{d,W}(A) \, .$$

We have

$$\frac{\parallel B_{d,W} - A_{d,W} \parallel}{\parallel A_{d,W} \parallel} \ge \frac{\parallel WEWA_{d,W} \parallel}{\parallel WAW \parallel \parallel A_{d,W} \parallel + \parallel WEW \parallel \parallel A_{d,W} \parallel}$$

$$\Leftrightarrow \frac{\parallel WEWA_{d,W} \parallel}{K_{d,W}(A) + \parallel WEW \parallel \parallel A_{d,W} \parallel}$$

$$\Leftrightarrow \frac{\parallel WEWA_{d,W} \parallel}{K_{d,W}(A) (1 + \parallel WEW \parallel \parallel A_{d,W} \parallel)}.$$
(3. 16)

Therefore, (3.14) holds from (3.15) and (3.16). This completes the proof.

Moreover, by Theorem 3.3, when both A and E are square and W = I, we can directly get some results in [4,6,7] which are omitted here.

#### References:

- [1] CAMPBELL S L, MEYER JR C D. Generalized Inverse of Linear Transformations [M]. London: Pitman, 1979, New York: Dover, 1991.
- [2] WANG G, WEI Y, QIAO S. Generalized inverses: Theory and Computations [M]. Beijing/New York: Science Press, 2004.
- [3] CLINE R E, GREVILLE T N E. A Drazin inverse for rectangular matrices [J]. Linear Algebra Appl, 1980, 29:53 62.
- [4] WEI Y, WANG G. The perturbation theory for the Drazin inverse and its applications [J]. Linear Algebra Appl, 1997, 258:179 186.
- [5] WEI Y. A characterization and representation of the Drazin inverse [J]. SIAM J Matrix Anal Appl, 1996, 17:744 747.
- [6] WEI Y. On the perturbation of the group inverse and oblique projection [J]. Appl Math Comput, 1998, 98, 29 42.
- [7] WEI Y, WU H. The perturbation of the Drazin inverse and oblique projection [J]. Appl Math Letters, 2000, 13:77 -83.
- [8] WEI Y, LI X. An improvement on perturbayion bounds for the Drazin inverse [J]. Numer Linear Algebra Appl, 2003, 10: 563-575.
- [9] WEI Y. A characterization for the W-weighted Drazin inverse and a Cramer rule for the W-weighted Drazin inverse solution [J]. Appl Math Comput, 2002, 125:303 310.
- [10] RAKOCEVI &, WEI Y. A weighted Drazin inverse and applications[J]. Linear Algebra Appl, 2002, 350:25 39.
- [11] CHEN X, CHEN G. A splitting method for the weighted Drazin inverse of rectanguler matrices [J]. Applied Math J Chinese Univ, 1993,8:71-78.

## 关于加权 Drazin 逆扰动的几个结果

徐兆亮1,王国荣2,顾超3

(1. 上海海事大学 基础科学部, 上海 200135; 2. 上海师范大学 数理信息学院, 上海 200234;

3. 上海立信会计学院 数统部,上海 200106)

摘要: 设 A 是一个  $m \times n$  矩阵, E 是 A 的扰动矩阵并且 B = A + E. 给出了 A 和 B 的加权 Drazin 逆  $A_{d,w}$  和  $B_{d,w}$  的新的性质, 在一定的条件下, 建立了加权 Drazin 逆  $A_{d,w}$  和  $B_{d,w}$  的 Banach-型扰动定理,得到了  $\|B_{d,w}\|$  和  $\|B_{d,w}-A_{d,w}\|/\|A_{d,w}\|$  的上下界估计,推广了有关 Drazin 逆和群逆的文献中的相应结果.

关键词: 扰动; 加权 Drazin 逆; 指标; 核秩; 条件数